[ number of missing inner layers |

7 Entries 494681
E Mean 0.04627
F Std Dev 0.2219
e [ —
107 Entries 885626
F Mean 0.03512
N Std Dev 0 1951
2L bt
10 3 Entrles 883392
F Mean 0.03597
o Std Dev 0.1965
10*3=— e e
-4
107k
10°k . FU H
N

0 1 2 3 4 5 6 7 8 9 10

[ number

of missing outer layers |

1 —| Entries 494681
: Mean 1.229
: |std Dev 1.847
by p——
107E [Entries 885626
F : Mean 1.157
L . Std Dev 1.915
C7J IR — T eiiiiiiteiiii....
10 E i [Entries 883392
F ' Mean 1.135
sl : [std Dev 1.888
10 R - I HE .
1074 R
-5 N e T
10 e :
010—6....!..._:\_I....!....!....
= 14 - I
E E : ‘+‘ : :
1.2F : S RN :
b :
1= :
08w :
0 5 10 15 20 25

= DQM_original_step2_ttbar-phasel-newgeom

—| ==e== DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
@ — DQM_pixel CPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

— 40

0

>

A B[ e

2

6 30 ...... [ Feenaaaan Meneaaan FI— Meeeaaaa
1| OO USROS SRS SR AP S

Ratio

Entries 133002
.| Mean 2.164
Std Dev 6.079
: |
Entries 133002
Mean 2.164
Std Dev 6.079
: I
Entries 133002
Mean 2.164
6.079

Std Dev

010v3F .
g 5 I
o :|111111111:11Hll“||||
JTHHHHATTIT]
0'9150-‘1 1 1:0 1(532 10°
TP p

10°

10*

10°

10?

10

T T T T | Entries 494681
: : ' : Mean 11.68
6.664

Std Dev

. 885626
....................... 883392
' Mean 13.89
: Std Dev 6.449

=
T

Ratio

N
TTTT T

o=

5 10 15 20 25 30 35 40
track hits

Entries 594975

Mean 0.4257

Std Dev 1.149

"""""""""""""" AR |

Entries 1005626

: Mean 0.715

N Std Dev 1.997

""""" e AR g T
: : Entries 1005641

Mean 0.6843

U T - S 1.812

Ratio




	Contents
	Page 1


